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. Question 1 is compulsory and Answer any 6 from the remaining questions.

. ‘ OBE
o CO |RBT

Land Rover’. Find the probability that he has

very year a man trades his car for a new car in 3 brands of the popular company ‘Tata motors’.
If he has a “Nexon’ he trades it for a ‘Punch’. If he has a ‘Punch’ he trades if for a ‘Jaguar Land
1 Rover’. If he has a ‘Jaguar Land Rover’ he is just as likely to trade it for a new ‘Jaguar Land
Rover’ or for a ‘Punch’ or a ‘Nexon’ one. In 2020 he bought his first car which was ‘Jaguar

i) 2022 ‘Jaguar Land Rover’ ii) 2022 ‘Nexon’ iii) 2023 ‘Punch’iv) 2023 ‘Jaguar Land Rover’
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«(distribution and absorbing state of Markov chain,

Define Probability Vectors, Stochastic. matrices, Regular stochastic matrix, stationary

[711 coz2 | L1

Find the unique fixed probability vector @ for the regular stochastic matrix A =

O nir O
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Explain the following: Null and Alternative hypothesis, Type I and Type II errors, Critical
region, Tests of significance, Two-tailed tests.

[7]

A coin was tossed 1000 times and the head turned up 540 times. Decide on the hypothesis
that the coin is unbiased at 1% level of significance.

[7]

[n an examination given to students at a large number of different schools the mean grade;
was 74.5 and S.D grade was 8. At one particular school where 200 students took the
examination the mean grade was 75.9. Discuss the significance of this result at 5% and 1%

[7]

L3

level of significance. .
A random sample for 1000 workers in company has mean wage of Rs. 50 per day and S.D of

Rs. 15. Another sample of 1500 workers from another company has mean wage of Rs. 45 per
day and S.D of Rs. 20. Does the mean rate of wages varies between the two companies? Find
kthe 95% confidence limits for the difference of the mean wages of the population of the two

[7]

CO3

200

companies.
In two large populations there are 30% and 25% respectively of fair-haired people. Is this

difference likely to be hidden in samples of 1200 and 900 respectively from the two

[7]

L3

populations.?
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